K ZEE10SFEIH AL EBEET

SEEIRNL 5

BANE 13 16 29
A 30 39 69
(EZPN 9 20 29
A AE 7 6 13
JEC AL 4 3 7
VPN 6 6 12
HEPN 1 1 2
e 70 91 161




K ZEE105SFE2H AL EBEET

SEEIRNL 5

BANE 20 17 37
A 21 20 41
(EZPN 11 6 17
A A B 9 8 17
JEC AL 9 6 15
VPN 6 6 12
YN 2 2 4
e 78 65 143




k1053 H AL EBEET

SEEIRNL 5

BANE 22 16 38
A 24 39 63
(EZPN 15 14 29
A A B 9 4 13
JEC AL 8 10 18
VPN 4 4 8
YN 4 4 8
e 86 91 177




K ZEE105SFEAH A EBEET

SEHIR 5

BANE 15 13 28
BH AR 19 23 42
(E=VN 15 11 26
AN 5 4 9
SECAEL 3 4 7
SEHEPN 4 4 8
3PN 2 2 4
At 63 61 124




K ZEE10SES H AL EZBEET

SEEIRNL 5 528

BANE 19 13 32
A 18 15 33
(EZPN 16 7 23
A A B 7 4 11
JEC AL 2 5 7
VPN 8 8 16
YN 2 2 4
T 72 54 126




K ZEE10SFE6H AL EBEET

SEEIRNL 5

BANE 12 12 24
A 24 29 53
(EZPN 10 10 20
HAE NB 7 11 18
JEC AL 7 6 13
VPN 5 5 10
YN 2 2 4
e 67 75 142




K ZEE105EETH AL EBEET

SEEIRNL 5 528

BANE 13 33
A 16 20 36
(B PN 3 2 5
A A B 10 7 17
JEC AL 10 6 16
VPN 5 5 10
HEPN 1 1 2
T 60 59 119




K ZEE10SESH AL EBEET

SEEIRNL 5 28

BANE 19 19 38
A 22 29 51
(B PN 4 5 9
A A B 6 8 14
JEC AL 4 3 7
VRPN 0 0 0
YN 3 3 6
e 58 67 125




K ZEE10SFEIH AL EBEET

SEEIRNL %

BANE 16 22 38
A 29 26 55
(B PN 9 7 16
A A B 9 5 14
JEC AL 5 5 10
VRPN 8 8 16
YN 2 2 4
4Ezt 78 75 153




K ZE105F 103 A O =BT

SEEIRNL 5 528 =r

BANE 16 20 36
A 18 23 41
(B PN 2 1 3
A A B 7 4 11
JEC AL 3 2 5
VPN 11 11 22
HEPN 1 1 2
e 58 62 120




L1055 11 3 A O =Bt

SEEIRNL 5 528 =r

BANE 9 24 33
A 14 20 34
(EZPN 10 8 18
A A B 9 7 16
JEC AL 4 1 5
VPN 5 5 10
YN 2 2 4
e 53 67 120




K105 12 3 A O =Bt

SEEIRNL 5 528 =r

BANE ) 19 28
A 15 22 37
(B PN 3 4 8
A AE 3 6 9
JEC AL 1 3 4
VPN 6 6 12
HEPN 1 1 2
e 39 61 100
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